@

CO
grinders

Image Item no.

TR o 40210406

44521027

44523020

44523021

44520027

Parts for
Truncator

Part description

Allen screw M4x6

Bearing outward 4,8

Bolt for stick-out Truncator
Bolt for stick-out Truncator-S

Bronze bearing Outward

inelco-grinders.com


https://inelco-grinders.com/

e~~~

44490517

44523035

44523010

44523005

44523011

44490910

44490915

75523020

44523015

44510290

Diamond Disc Truncator

Drill 3.3 mm

Eccentric guide

Eccentric guide lock

Eccentric guide S

Frame Truncator

Frame Truncator double

Grinding console complete UT / UTC

House for stickout

Inspection cover NX

inelco-grinders.com

214



44520048

44470224

44520009

40310404

40320410

44470124

44496525

44523036

44523037

44520004

75523030

Locknut

O-ring @24%2 mm

Packing ring for insp.cover

Pointed screw M4x6

Retaining screw M4x10

Rubber pack (membrane), @25 mm

Screw M5 Lefthand Stainless

Tap wrench, M3-M10

Thread tap M4

Tightening screw

Truncator thread kit

inelco-grinders.com

3/4



- 41530540 Washer @5x30

(r 'C o Klokkestgbervej 4 Tel.: (+45) 96 50 62 33

9490 Pandrup info@inelco-grinders.com
grinders ST

inelco-grinders.com 4/4


https://inelco-grinders.com/
mailto:info@inelco-grinders.com

	Inelco Grinders
	Parts for Truncator


